Math 22  Review   (13.3-15.2)

Unit tangent vector: 
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Unit normal vector: 
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Binormal vector: 
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1.
Suppose that the position of a particle after t seconds is given by 
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a.
Find the speed of the particle after 
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 seconds.

b.
Find the unit tangent vector when 
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c.
Find the acceleration vector when 
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d.
Find the unit normal vector when 
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e.
Find the tangential component of the acceleration vector when 
[image: image12.wmf]t

=p

.


e.
Find the normal component of the acceleration vector when 
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2.
Let 
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a.
Evaluate 
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b.
Graph the domain of f.

c.
Find the gradient of f at the point (1, 5).

d.
Find the rate of change at the point (1, 5) in the direction of 
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e.
In what direction will the rate of change of 
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 at (1, 5) be zero?

f.
In what direction will the rate of change of 
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 at (1, 5) be the greatest?

g.
Find an equation of the plane tangent to the surface 
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 at the point 
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h.
Find the linearization of 
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i.
Use the linearization to estimate 
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j.
Find the parametric equations for the line normal to the surface at the point 
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k.
Suppose 
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.  Use the chain rule to find 
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3.
Show that the limit, 
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4.
Find the relative extreme values for 
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5.
Let 
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6.
Use the method of Lagrange multipliers to optimize 
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7.
Consider the iterated integral 
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a.
Estimate the value of the integral using 4 rectangles of the same size, with midpoints as sample points.


b.
Evaluate the integral.
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